Notes_11/19/11
· Corpus

1. The smaller of the eValue score for blast, the closer the relation of the two species is. Thus we should just use the blast score that is smaller than E-4 in training and testing.
2. Preliminarily, we will try the exponent instead of the complete number for the blast score.

(On the other hand, when I look at the data, I can’t find any blast that is smaller than E-2. Have this numbers already been using the exponent? )
At the next lunch, please try to determine exactly what blast output means here (you may also be able to determine this from the blast website. Clearly blast output cannot be e-value.
Below is part of the blast data in file Ath.vs.Mtru.blast.output.maxmean.combined.sorted.mean.speciescol:
Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g005810,33.405

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g006910,38.91

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g010470,31.65

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g013210,37.73

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g030310,43.73

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g075010,41.03

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g098910,41.39

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g100290,42.12

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g100450,44.39

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g100470,42.73

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g100550,39.95

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g103810,38.67

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr2g103950,42.24

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr3g034100,28.24

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr3g084510,41.34

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr3g095100,32.25

Arabidopsis_thaliana,AT3G46420,Medicago_truncatula,Medtr3g100090,39.71
· Weight
1. Weight of the blast score should be negative (because of using the exponent), so does the pValue. And the correlation will be positive.

How to ensure that three of the weights will be negative and one will be positive? When doing the training I can’t guarantee how the weights change during iteration. Pvalue will have a negative exponent, but blast output seems to be positive.
· Training
1. Ensure the Stochastic Gradient Decent work well

2. Try different combination of the blasts and correlations, within and among species, because we are not sure which combination will generate best result

3. We will use average of max blast scores over all species as a observed data

4. Maybe we will try average of (-max blast) * correlation 
· Testing
1. Use the exact data for comparison and accuracy calculation, see the result of different combination of observed data will yield. I don’t know what this last sentence means, but the idea should be that you learn the coefficients on the training data and then apply them to testing data.
